Grocery Store Math

Aunt Hilda went to the grocery store to buy fruit. She met her friend Florida
who was buying fruit, too. Find out how much each of them spent, and then
compare to see who has more money left.

Aunt Hilda loves apples. She bought
8 of them. What is the total cost?

Cost of 1 apple Ur
X

|8

TOTAL $32

Aunt Hilda had $50 in her wallet. She
gave the shopkeeper the $50 bill. How
much change should she get?

Aunt Hilda had 50
Amount spent 3 2
TOTAL $18

Step 1

Step 2

Aunt Florida found the pears very fresh and
bought 6 of them. What is the total cost?

Cost of 1 pear 2
X

Number bought 6

TOTAL $12

Aunt Florida had only $20. She gave that
money to the shopkeeper. How much
change should she get?

Aunt Florida had 20

Amount spent 12

TOTAL $8

Who has more money left?

Aunt Florida
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